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2x5=lO~rite short notes on the following: (any jive)
..I) Photosynthetic apparatus
b) Saponification
c) Cholesterol
d) Basic amino acids
e) Peptide bond
j) Forces involved in tertiary structure of proteins
g) Light reaction

- 2) Answer the following questions: (any jive)
a) What are the steps involved in the Calvin cycle of photosynthesis?
b) Write in short about the mitochondrial respiratory chain
c) What are essential fatty acids? Explain their importance in animals.
d) Describe the regulation of Pentose Phosphate Pathway
e) What are phospholipids? Explain their biological importances.
j) Differentiate between glycogen and starch
g) What are disaccharides? Explain with suitable examples

3) Answer the following: (any jive)
a) Describe TCA cycle. How many A TP is generated from four molecule of acetyl CoA?

4+1=5
) What is photosynthesis? Describe the Z- scheme 2+3=5

c) What is the importance of glycolysis? Describe the process 1+4=5
d) Describe the biological roles of carbohydrates. 5
e) Where does glyoxylate cycle occur? Describe and mention it's importance in plants.

1+4=5
j) Describe gluconeogenesis. State it's importance in plants and animals. 3+2=5
g) What are the different levels of organisation of proteins? Explain with examples. 5

*****

3x5=15
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PART A- Objective Type

I. All the questions are compulsory.

.1) Enzymes requiring ATP essentially require
a) a+ b) Mg2+ c) Ca2+

2) Which of the following are coenzymes?
a) ATP, AD, TPP
c) NAD.ATP.NADP

b) FAD, FADH, AMP
d) one of the above

3) Total no. of ATP generated in TCA-
a)21 b)28 c) 24

4) What is produced during light reaction of photosynthesis
a) ATP and NADPH b) Starch c) C02

5) Photosynthetic apparatus is-
a) Mitochondria b) Lysosome c) Chloroplast

Plants store glucose in the form of
a) Starch b) Glycogen c) Agar

7) Which of the following amino acid is aromatic in nature?
a) Phenylalanine b) Leucine c) Valine

8) Which of the following pigments are characteristically not found in chloroplasts?
a) Chlorophyll b) Carotene c) Xanthophylls

9) Initial enzyme of Calvin cycle is-
• a) PEP b) PEPCO c)COA

10) Glucose and mannose are epimers. This means that
a) They are mirror images of each other.
b) One is an aldose and other is a ketose
c) They rotate plane polarized light in opposite direction.
d) They differ only in the configuration of one carbon atom.

Marks-20

lx20=20

d) 25

d) Ribosome

d) Glycolipids

d) Methionine

d) Anthocyanin

d) RUBISCO



11) Choose the mismatch
a) Amylose contains a (1----+4) glycosidic bond
b) D-glucose 1- phosphate phosphoric acid ester of glucose.
c) Glycosides forms when sugar reacts with acid
d) Acetal forms when hemiacetal reacts with alcohol.

12) The sugar residues of Amylose are
a) a (1----+4) linkages b) P (1----+4) linkages c) Galactose units only d) Fructose units only

13) Which of the following is not a biological role of fatty acids?
a) Essential component of plasma membrane b) Stored as triglycerols in the body
c) Acts as intracellular second messenger d) Mainly contains odd no. of carbons

14) Which of the following lipids have a net negative charge?
a) Phosphatidyl choline b) Cholesterol
c) Phosphatidyl serine d) Phosphatidylethanolamine

15) Gangliosides contain-
a) A ceramide structure
c) Sialic acid

b) Glucose or Galactose
d) All of the above

16) Which of the following does not belong to glycosphingolipids?
a) Cerebrosides b) Gangliosides
c) Globosides d) Sphingomyelin

17) Which of the following statement is incorrect?
a) Fatty acid synthesis occurs in cytosol of animal cells
b) Fatty acid desaturation and elongation occurs in ER
c) In diabetes mellitus ketone bodies production increases and results in ketoacidosis
d) None of the above.

*****

18) Cholesterol is essential for normal membrane functions because it
a) Cannot be made by higher organism
b) Spans the thickness of the bilayer
c) Keeps membrane fluidity
d) Catalyses lipid flip flop in the bilayer

19) High solubility of amino acids in water is due to
a) Presence of side chain b) Dipolar ion structure
c) Unipolarity d) Hydrophilic nature of the amino group

20) An a helix represents
a) Primary structure of a protein
c) Tertiary structure of a protein

b) Secondary structure of a protein
d) Aggegation of proteins.


